RULE

1({Melody => bar bar bar bar bar bar bar bar

4 => bar 3 bar bar bar bar bar bar bar

8 => (3 p3d3) bar bar bar bar bar bar bar

12 = (3 pitch pitch pitch d3) bar bar bar bar bar bar bar
26 => (3 e pitch pitch d3) bar bar bar bar bar bar bar
26 => (3 e d pitch d3) bar bar bar bar bar bar bar
26 => (3eded3) bar bar bar bar bar bar bar

18 = (3edeqqh) bar bar bar bar bar bar bar

2 => (3edeqqh) barl bar bar bar bar bar bar

6 => (3edeqqh) (1pldl) bar bar bar bar bar bar

10 => (3edeqqh) (1 pitch d1) bar bar bar bar bar bar
26 = (3edeqqh) (1gdl1) bar bar bar bar bar bar

14 => (3edeqqh) (1gw) bar bar bar bar bar bar

4 = (3edeqqh) (1gw) bar 3 bar bar bar bar bar

8 => (3edeqqh) (1gw) (3 p3d3) bar bar bar bar bar

12 = (3edeqqh) (1gw) (3 pitch pitch pitch d3) bar bar bar bar bar
26 => (3edeqqh) (1gw) (3 e pitch pitch d3) bar bar bar bar bar
26 => (3edeqqh) (1gw) (3 e d pitch d3) bar bar bar bar bar
26 => (3edeqqh) (1gw) (3eded3) bar bar bar bar bar

18 = (3edeqqh) (1gw) (3edeqqgh) bar bar bar bar bar

2 => (3edeqqh) (1gw) (3edeqqh) barl bar bar bar bar

6 = (3edeqqh) (1gw) (3edeqqgh) (1p1dl) bar bar bar bar

10 => (3edeqqh) (1gw) (3edeqqh) (1 pitch d1 bar bar bar bar
26 = (3edeqqh) (1gw) (3edeqqgh) (1cdl) bar bar bar bar

14 => (3edeqqh) (1gw) (3edeqqh) (Lcw) bar bar bar bar

4 = (3edeqqh) (1gw) (3edeqqgh) (1cw) bar 3 bar bar bar

8 = (3edeqqh) (1gw) (3edeqqgh) (1cw) (3 p3d3) bar bar bar

12 = (3edeqqh) (1gw) (3edeqqgh) (1cw) (3 pitch pitch pitch ¢ bar bar bar
26 => (3edeqqh) (lgw) (3edeqqh) (Lcw) (3 e pitch pitch d3) bar bar bar
26 = (3edeqqh) (1gw) (3edeqqgh) (1cw) (3 e d pitch d3) bar bar bar
26 => (3edeqqh) (lgw) (3edeqqh) (Lcw) (3eded3) bar bar bar

18 = (3edeqqh) (1gw) (3edeqqgh) (1cw) (3edeqqgh) bar bar bar

3 => (3edeqqh) (lgw) (3edeqqh) (Lcw) (3edeqqh) bar2 bar bar

7 = (3edeqqh) (1gw) (3edeqqgh) (1cw) (3edeqqgh) (2 p2 d2) bar bar

11 => (3edeqqh) (lgw) (3edeqqh) (Lcw) (3edeqqh) (2 pitch pitch d2) bar bar
26 = (3edeqqh) (1gw) (3edeqqgh) (1cw) (3edeqqgh) (2 a pitch d2) bar bar
26 => (3edeqqh) (lgw) (3edeqqh) (Lcw) (3edeqqh) (2abd2) bar bar

15 = (3edeqqh) (1gw) (3edeqqgh) (1cw) (3edeqqgh) (2abhh) bar bar

2 => (3edeqqh) (lgw) (3edeqqh) (Lcw) (3edeqqh) (2abhh) barl bar

6 = (3edeqqh) (1gw) (3edeqqgh) (1cw) (3edeqqgh) (2abhh) (1pldl) bar

10 => (3edeqqh) (lgw) (3edeqqh) (Lcw) (3edeqqh) (2abhh) (1 pitch d1) bar
26 = (3edeqqh) (1gw) (3edeqqgh) (1cw) (3edeqqgh) (2abhh) (1gdl) bar

14 => (3edeqqh) (lgw) (3edeqqh) (Lcw) (3edeqqh) (2abhh) (1gw) bar

4 = (3edeqqh) (1gw) (3edeqqgh) (1cw) (3edeqqgh) (2abhh) (1gw) bar 3

8 => (3edeqqh) (lgw) (3edeqqh) (Lcw) (3edeqqh) (2abhh) (1gw) (3 p3d3)
12 = (3edeqqh) (1gw) (3edeqqgh) (1cw) (3edeqqgh) (2abhh) (1gw) (3 pitch pitch pitch d3)
26 => (3edeqqh) (lgw) (3edeqqh) (Lcw) (3edeqqh) (2abhh) (1gw) (3 e pitch pitch d3)
26 = (3edeqqh) (1gw) (3edeqqgh) (1cw) (3edeqqgh) (2abhh) (1gw) (3 e d pitch d3)
26 => (3edeqqh) (lgw) (3edeqqh) (Lcw) (3edeqqh) (2abhh) (1gw) (3edcd3)
18 = (3edeqqh) (1gw) (3edeqqgh) (1cw) (3edeqqgh) (2abhh) (1gw) (3edcqqh)

OUTPUT (3edeqqgh) (1gw) (3edeqqgh) (1cw) (3edeqqgh) (2abhh) (1gw) (3edcqqgh)

JFUGUE OUTPUT

EQ DQ EH GW EQ DQ EH CW EQ DQ EH AH BH GW EQ DQ CH




